SH2EEAIIKERE
8H27H FAR#K

= S h ny Ak
= E AEH I8 snmusmrnns mag |20 | woon | o7y | ex
I 78] 08 20 95 | 54,000
2[R 76 10 6.0 89 160,000
ET 72| 12 130 9.0 | 160,000
NS 7113 5.0 81| 90,000
5| RABAKE 7507 5.0 89 54,000
GE 76| 68 5.0 8.1 54,000
7| BT KR 73] 10 5.0 83] 24,000
8| KB ER AR 76 15 5.0 9.1 | 54,000
o1 78] 08 5.0 89230000
10| T AT B 76109 80 861 _ 92,000
AR X
L 1 PH | BoD | ss DO | AMpE%H| cop | mrsva | Lry | X
#S I 4
T|EN_BiZE 76| _07.< 70 96 7000 167 [ 00003 <] 01 <] 0001
AT 75] 06 < 30 9.7 7.000] 161 [ 00003 <| 0.1 <] 000i
8[BAKAT D BAKD 7906 2.0 0.1 2 1.3 | 00003 <[ 0.1 <] 000]
NENRAE: 7907 20 05 7800 161 [ 00003 <[ 01l <] 0001
GFEINET. 36] 06 < 40 0.3 3310 | 00016 0. <[ 0001 <
6| E—mET 66| 05 < 2.0 0.4 230] 05 [ 00003 <| 0.1 <[ 0001 <
TEERRET T 46] 05 < 10 83 70005 | 0.0007 0.1 0] 0001 <
[T R AT 66|06 20 0.7 69| 07 | 00003 <] 0.1 <] 0004
OERZSI 65 10 < 1.0 0.1 290] 051 [ 00003 <[ __ori<[ 0001i<
TO[AIIA Al A 58] 05 < 50 K 14 05| | 00003 <] __011<| 0001 <
K O EAIE 4010 < 1.0 101 7100 09 | 00003 <] 0.1, <] 0003 <
12|=A—5—H0 Bk 68| 05 < 40 79 1.300] 111 | 00003 <| 0.1 <] 0026
13]RA 62| 05 2.0 93] 3300 05| [ 00003 <[ 0.1 <] 000i
14|01 32] 06 < 10 80 130] 151 100003 <] 01t <] 000t
Rt
_—(HEHH PH BOD ss DO | XKigE# | cop | #ksva | v7Y | EE
L= olIE
1|3 AkE 71|05 20 5.1] 92000
2| FAT Bk A 7207 20 9.3 54000
s[HTEMI 7409 20 103 | 92,000
METEA 78] 07 1.0 89 4900
G 78] 05 70 9.3 22,000
QEA 80|09 1.0 85 17,000
EIGE 76105 1.0 861 160000




